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Physics and Astronomy Department
College of Sciences-King Saud University
Phys 104, Midterm Exam #1, First Semester 25/4/1431 H
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)1- If a group of protons has an electric charge of 18 C, the total mass of the protons is:
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99- The electric force due to tWO charged particles of 70 mC each and 20 km apart is:
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03- The vertical component of the resultant electric field at the point p is:
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Q4- The angle (0) between the resultant electric field (E) at the point p (Q3) and the positive x-axis
is:
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Q5- If a proton starts from rest at the positive plate, its speed when reaching the midway between the
plates is:
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Q6- If the charge magnitude is the same for all charges, which surface does have the highest electric
flux?
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he magnitude of the electric field at the point a near the mid of the line charge is:
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Q8- The electric potential difference Vig-V o equals:
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Q9- The total potential (Reaction Energy) of the charges is:
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Q10- If the charge stored on the equivalent capacitor is 3 pC, what is the voltage v?
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